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& Aaldl cos (0) » iyl 5 Sin(h)
A(cos(0),sin(0))

sin(x)

sin?(a) =1 — cos?(a)
=5 (1~ cos(2))
Sin (0) =0
sin(—0) = —sin(h) ... ... ... ... ... ... (fonction impair 4 4l)
Sin(a + B) = sin(a)cos(B) tsin(B)cos(a)

Sin 2a)=2sin(a)cos(a)

_ 2tan (a)
1+ tan?(a)
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Sin (3a) = 3Sin (ar)-4sin® ()

Sin(m F 6) = +sin(6)

Sin(a)+sin(B) = 2sin(=5)cos(F)
Sin(a)-sin(B) = 2cos(=E)sin(F)
Sin(a)sin(8) =~ [cos(a — B) — cos(a + f)]

cos?(a) = 1 — sin?(a)

= %(1 + cos(2a))

cos (0) =1
cos(—80) = cos(0) ... ... .. wu. oo ... (fonction pair L) Q)
cos(a + B) =cos(a)cos(f) +sin(B)cos(a)
cos 2a) =cos?(a) — sin?*(a)

=2co0s?*(a) — 1

=1 - 2sin*(a)

_1- tan?(a)

1+ tan?(a)

cos 3a) =-3cos (a)t+4cos>(a)

cos(m + 6) =— cos(8)
cos(a)+cos(PB) =2003(a;r—ﬁ) cos (a;—ﬁ)
cos(a)-cos(f) =—23in(a;r—ﬁ)sin(0:—ﬁ)

cos(a)cos(,[i’)=% [cos(a — B) + cos(a + B)]

sin?(a) + cos?(a) = 1
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sin(a)eos(f)= ~[sin(« + B) + sin(a — B)]
cos(@) sin (B)=5fsin(a + B) — sin(a — B)]
cos(; £ 6) =F sin(6)

Sin(; % 6)=cos(6)

tan(x)

P2
tan2 (a) _ sin (a)

cos?(a)
_ 1
o cos?(a)
__ 1-cos(2a)
o 14+cos(2a)
_ sin?(a)
" 1-sin%(a)
tan (0) =0
tan(—0) = —tan(B) .................(fonction impair 48 )
_ tan (a)ttan (B)
mn(a T 'B) B 1F tan(a)tan(B
_ 2tan (a)
tan Qa) = 1-tan®(@)
_ _sin(+0)_ tsin(6) _—+
tan(m + 6) cos(mT8)  —cos(d) + tan(9)
n _sin (%ie)_ cos(@) — 1  —
tan(z +6) = cos(%ie) F sin(e)_+ tan (0)_+ cot(6)
__ Sin(atp)
tan(a) ttan(f) ~cos(a)cos(B)
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w=tan (X}

sin(x)

Cos(x)

tan(x)
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